15.4 Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Addition or Removal of a Reactant or Product

Chemistry Interactive: LeChatelier's Primciple - The Water Tank Analogy
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15.4 Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Addition of a Reactant.

Chemistry Interactive: LeChatelier's Principle - The Water Tank Analogy
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15.4 Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Removing an Reactant.

Chemistny Interactive: LeChatelier's Principle - The Water Tank Analogy
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15.4 Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Adding a Product.

Chemistry Interactive: LeChatelier's Principle - The Water Tank Analogy
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15.4

Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Removing a Product.

Chemistry Interactive: LeChatelier's Principle - The Watar Tank Analogy
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156.4 Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Addition or Removal of a Reactant or Product

HCN is a weak acid -

HCN(aq) + H,O(l) & H;0*+ CN- Kc =4.0x1019 @ 25°C
Removal of H;0* from this equilibrium will cause the [CN-] to

“* a) Increase / c) Remain unchanged
b) Decrease d) Impossible to determine
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15.4

Disturbing a Chemical Equilibrium: Le Chatelier's Principle
Addition or Removal of a Reactant or Product

HCN is a weak acid —
HCN(aq) + H,O(l) & H;0*+ CN- Kc =4.0x1019 @ 25°C

Addition of OH- to this equilibrium will cause the [CN-] to

“? a) Increase v c) Remainunchanged ?
b) Decrease d) Impossible to determine
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